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[1] ¥APCB 25,000,000 %10 %33
[I-1]E/ 7 oo 7 == 5.3 0.8 22
[12] Y7 vu b7 ==/ 120 2 5
3] PV Zooe 7 == 1,200,000 1 3
[1-4]7 o7 7uvub 7=/ 3,100,000 1 4
[1-4-11 27 FF—PCBD H H 33 44-T T 7una 7=/ (#77) 500 0.6 1.6
[1-42] 277 F—PCBD H H 34457 h77mn b7 =) (481) 1,600 0.7 1.8
[1-5] Ry % /un b7 ==L 6,400,000 1 3
[1-5-11 27T F—PCBD 9 5 23344~ X7t 7 ==/l (#105) 530,000 0.8 2
[1-52] 27 F—PCBD H H 234452 Funb 7 x==)L (#114) 69,000 0.8 2.1
[1-5-31 27T F—PCBD 9 5 23445~ /7nnt 7 x=/L (#118) 2,900,000 0.8 2.1
[1-5-4] 27 F—PCBD H 5 2' 3445 F7una 7=/ (#123) 38,000 0.6 1.5
[1-5-51 27T F—PCBD 9 5 3,344 577 ==/l (#126) 5,100 0.7 1.7
[1-6] ~FH 7o ==)L4 10,000,000 1 4
[1-6-11 27T F—PCBD 9 5 2,33 44,5-~Fh /oot~ ==/ (#156) 340,000 0.8 2.1
[1-6-2] 275 F—PCBD 5 H 233 445-~F oo b7 =/ (#157) 69,000 0.7 1.8
[1-6-31 27T F—PCBD 9 5 2,344 55-~Fh 77 =)L (#167) 160,000 0.7 1.8
[1-6-4] 275 F—PCBD 5 H 3,3 44,55-~F /a7 =/ (#169) 230 0.8 2.1
(17 ~FZ 7 anbe 7 =/ 3,400,000 1 4
[1-7-11 277 F—PCBD H 5 2,2'3344,5-~T X a7 =/l (#170) 490,000 0.8 22
[1-721 27T F—PCBD 9 5 2,2'344,55-~F 4 7au b~ x=/L (#180) 1,200,000 0.9 22
[1-7-3] 277 F—PCBD 5 5 2,33 44,55-~7H7un 7=/l (#189) 24,000 0.8 2.1
(18] A7 #7mn b7 ==L 530,000 1 3
[1-9] /FZuubt 7 ==L 29,000 1 3
[1-10] FHh 7 nm 7 ==L 16,000 0.6 1.6
[2]HCB (~FHrooxrEY) 54,000 1 3
[6] DDTHH 1,600,000 %7.9 %22
[6-1]p.,p'-DDT 4,100 2 6
[6-2] p ,p'-DDE 1,600,000 1 3
[6-3] p ,p’-DDD 460 0.9 2.2
[6-4] 0 ,p’-DDT 25 1 3
[6-5] o ,p'-DDE 19 1 3
[6-6] 0 ,p'-DDD 48 2 5
[15] VT A uA s 2 ANk ik (PFOS) 40,000 2 5
[16] 7 A uaAs 2 i (PFOA) 3,200 2 6
7] X278y 15,000 1 4
[18] = KA T 7 LA nd %30 %80
[18-1]a-=2 RANT 7 nd 20 60
[182] - RANLT 7 v tr(7) 6 18
[20] R Y {7 2 L 25,000 %13 %37
[20-1] & / Hifb 7 # L HH 10 2 6
[20-2] VHidbF 7 % L U3 tr(4) 2 5
[20-3] b UMb 7 Z L 40 2 6
[20-4] 7 k Tt 7 % L U 13,000 2 6
[20-5] <> 2 fk 7 2 LU 7,500 1 4
[20-6] ~FV )7 &2 L U JH 4,500 1 3
[20-7] ~7 2 Hifb 7 % L U 33 1 3
[20-8] A2 #Y¥af{v )7 2 1L v nd 2 4
RI~¥FY a7 H13-Vx 36 5 14
[23] BTN T 7 4 LM tr(1,500) %900 %2,300
[23-11 e FET 0 tr(200) 200 600
[23-2] iRk w 7 nd 300 800
[23-3] ¥/ 1b K7 V8 tr(300) 200 400
[23-4] iR b U T 1,000 200 500
[25] ~v 7 A a~FH o ALk W (PFHXS) 3,800 2 5
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[1] #APCB 50,000 %10 %33
[I-1]E/ 7 oo 7 == nd 0.8 22
[12] Y7 v ” ==/ tr(2) 2 5
3] PV Zooe 7 == 4,900 1 3
[1-4]7 o7 7uvub 7=/ 11,000 1 4
[1-4-11 27 FF—PCBD H H 33 44-T T 7una 7=/ (#77) tr(1.4) 0.6 1.6
[1-42] 27T F—PCBD H H 34457 hT77nn 7 ==/l (#81) 2.7 0.7 1.8
[1-5] Ry % /un b7 ==L 15,000 1 3
[1-5-11 27T F—PCBD 9 5 23344~ X7t 7 ==/l (#105) 1,400 0.8 2
[1-52] 27 F—PCBD H H 234452 Funb 7 x==)L (#114) 120 0.8 2.1
[1-5-31 27T F—PCBD 9 5 23445~ /7nnt 7 x=/L (#118) 5,000 0.8 2.1
[1-5-4] 27 F—PCBD H 5 2' 3445 F7una 7=/ (#123) 64 0.6 1.5
[1-5-51 27T F—PCBD 9 5 3,344 577 ==/l (#126) 4.0 0.7 1.7
[1-6] ~FH 7o ==)L4 15,000 1 4
[1-6-1]1 277 F—PCBD H % 2,33 44 5-~F 77 ==L (#156) 400 0.8 2.1
[1-6-2] 275 F—PCBD 5 H 233 445-~F oo b7 =/ (#157) 73 0.7 1.8
[1-6-31 27T F—PCBD 9 5 2,344 55-~Fh 77 =)L (#167) 150 0.7 1.8
[1-6-4] 275 F—PCBD 5 H 3,3 44,55-~F /a7 =/ (#169) nd 0.8 2.1
[1-7]~7' 2 7au b7 ==/ 4,000 1 4
[1-7-11 277 F—PCBD H 5 2,2'3344,5-~T X a7 =/l (#170) 610 0.8 22
[1-721 27T F—PCBD 9 5 2,2'344,55-~F 4 7au b~ x=/L (#180) 1,100 0.9 2.2
[1-7-3] 277 F—PCBD 5 5 2,33 44,55-~7H7un 7=/l (#189) 16 0.8 2.1
[1-8] A7 #/7vub 7 ==L 440 1 3
[1-9] /FZmrE 7 ==/L5 19 1 3
[1-10] T A ZrrE 7 2 =/L 4.8 0.6 1.6
[2]HCB (~FHrooxrEY) 130 1 3
[6] DDTHH 2,700 %7.9 %22
[6-1] p .,p'-DDT 7 2 6
[6-2] p ,p'-DDE 2,700 1 3
[6-3] p ,p’-DDD 23 0.9 2.2
[6-4] 0 ,p’-DDT nd 1 3
[6-5] 0 ,p"-DDE nd 1 3
[6-6] 0 ,p'-DDD nd 2 5
[15] V7 A a4 2R R (PFOS) 260 2 5
[16] 7 A uaAs 2 i (PFOA) 20 2 6
7] X278y 43 1 4
[18] = KA T 7 LA nd %30 %80
[18-1]a-=2 RANT 7 nd 20 60
[182] - RANLT 7 v nd 6 18
[20] R Y {7 2 L 38 %13 %37
[20-1] & / Hifb 7 # L HH 8 2 6
[20-2] VHidb 7 # VU nd 2 5
[20-3] b UMb 7 Z L nd 2 6
[20-4] 7 h ZH{v )7 2 L U 15 2 6
[20-5] =2 2 Hifk 7 2 L U 11 1 4
[20-6] ~FHIFfk )7 Z L U FH 4 1 3
[20-7] ~7 2 Hifb 7 % L U nd 1 3
[20-8] A2 #Y¥af{v )7 2 1L v nd 2 4
RI~¥FY a7 H13-Vx nd 5 14
[23] BTN T 7 4 LM nd %900 %2,300
[23-1] {7 B nd 200 600
[23-2] iRk w 7 nd 300 800
[23-3] B KT 0 4R nd 200 400
[23-4] iR b U T nd 200 500
[25] ~v 7 A a~FH o ALk W (PFHXS) 20 2 5

(D) tr : B T IREA_EE 2 FRRA
(72) nd : R
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